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The income of the Ramesh and RK is in the ratio 2 : 5. The net expenditure of
Ramesh is 60% of what Rk spends. If the net savings with the Ramesh at the end

of the year is one-fourth of his income, find the ratio of savings of Ramesh and

Rk.
THIT 3 ST T 3T 2 1 5 o ST | §1 THI 6T I3, 599 TRk o 09 T 60%

At T % i W T UTH Y5 T SHehT AT T Uh-TUTS &, Y TWIT 37 TRk

<R ST ohT STTUTA AT <RI ST Kool )Qg< .
a .

R\ S
66v.=1S s < \/ @3&
\mv:%ﬂe@ : b) 7:2

-

d 2:7



If price of apples is increased by 20 percent, then a person can buy 4 apples less

for Rs. 312. What is the original price of an apple?

AT |l < G | 20 THA9Te <A Ffg ht AT &, A Tk ieh 312 wﬁ@am
@ﬁam%lwﬁawawaﬁ%ﬁww%?

_ >d -GN Z
Inowes= 213 022 <. 6

T ncveoned Rake = LT a) Rs. 10

><b‘) Rs. 15

#\3< )Rsl7




A student multiplied a number by 4/5 instead of 5/4. What is the percentage error

in the calculation?

Uk BT A ToRET HEAT it 5/4 o ST 4/5 € U KT AT 0T H 1S TTer9Ta 1 52
4 =

Q¥

d - @é’/-

a) 56.25

percent
) 18 percent

¢) 28.13

percent




A number is mistakenly divided b @ stead of being multiplied by 10. What is

e —
—

the percentage change in the result due to this mistake?

Tk HEAT T 10 § UM I o €A U et & 10 ¥ fasmie s fean star g1 5w
Tt o SHIOT TRUTH H fohar afdeta st aferd= gatm?

Dok P e -(i] S
= \O S o = (ole)
Conevec \ 2 a) -99%
< b) +99%

S\ AR M:C\O\'[ ¢) -100%
) gl W‘ d) +100%




Two numbers are respectively 25% and 40% less than a third number. What

percent of the first is the second.
2 HEATY Tk At SEaT o SHA: 25% R 40% A 5| U i Toha =T TTaord ga
2l &
6
Q) 2

("

a) 125 %

'b) 80 %

¢) 75%
d) 66.66 %




|
33— % of P is equal to 66 0/0 of Q. While 87 - % of Q is equal to 12 E% of
R. Flnd R is what percentage more or less th'
@ B 2%,Rar{|a'{%|
, PETS . o=

a) 125 %
b) 50 %
¢) 150 %

“d) 250 %




A reduction of 15% in the price of sugar enables Aruna Rai to buy 6 kg more for

Rs. 272. The reduced price of sugar per kg is:

TR AT H 15% Y HHT S HIUT FTE0T T 272 TUD H 6 feredt =T Tferen
@'ﬁ&'ﬁ%mﬁrmaﬁﬁwm‘a’mn—q%

a) Rs. 7.80

b) Rs.6

Tc) Rs. 6.8(7

d) Rs. 6.50



In an examination a candidate who got 30 percent of the total marks, failed by 8
marks. Another candidate who got 35 percent and got 12 marks more than the

passing marks. Total marks are:

Tk TS H hed 37eh T 30 TTATd ITH ol JTeTT Ueh IFHIGAR § 3fehl W STIIT0T 3T
21 Ueh 31 S IeaR A 35 afaora ure feru o1t 3ot 3iek & 12 3tk 31ferer ume
AT 21 Y el 37k 2

/\ a) 500

b) 800

¢) 300

(o )




If decreasing 120 by x% gives the same result as increasing 40 by x%, then x% of

210 is how much percent less than@gwL 20)% of 180?

IR 120 T x% T T TR TRUTTH, 40 40 T x% ¥ TG o TH TNUTH 34T &, ¥ 210
& x%, 180 F (x + 20)% & fomamT wiereTa &

2 = C\m-‘c‘ﬂ
\M(“’Q ™) = wEA (AT
% a) 18 %
oo T = \CNAVT\
3\/{% b) 331/3 %

%\CQN

- ¢) 20 %
%\N = \QQ_’):_‘/

d) 162/3%




If A is 28% more than B and C is 25% less than the sum of A and B, then by

what percent will C be more than A (correct to one decimal place)?

T A, B & 28% 31Tk & 31 C A 3R B F INTH 25% HH T, a1 C, A ¥ fohaq
TfaeTa 31fres (SITHTS & Ueh "l TATH qeh) B2

i 289
2%/ w) 2%
-\
b) 32.2%
) 33.6%

d) 43%



L is 20 percent less than T but T is 30 percent more than R. J is 30 percent of W

and W is 10 percent of T. J is what percentage 0
L, T & 20 ITA9Td ¥ § STk T, R & 30 TA9Ta 31Ferk Bl J, W ST 30 Tfaera 3R W,

T =T 10 Sfa9Ta 21 J, R T fehaar uferemg 82 ol

//s

L T ) O
\Bdﬂ% \30/. \oo/ \3*—% \3 a) 6.1%
\oH7. b) 8.4%
) 4.3%

d) 3.9%



Surekha spends 24% of her monthly income on groceries. 16% of it on rent and

55% of the remaining on children's education and others. If she saves 5,940 in a

month, then how much (in ¥) does she spend on rent?

YT 37U AR 3T T 24% TR o T W 09 HTAT 2| 368 9 16% forr
T 3TR 99 T 55% oToat chl OTEIT 3T 31+ X 9T Shldl 21 AT o8 Teh 7 |

ST €, at o TR ur feReT (2 W) oo et 27
Wk Toded Incsen = \00°/

a) 3,520

b) 3,300

¢) 3,960

d) 3,740




Surekha spends 24% of her monthly income on groceries. 16% of it on rent and
55% of the remaining on children's education and others. If she saves ¥5,940 in a

month, then how much (in ¥) does she spend on rent?

YT 37U AR 3T T 24% TR o T W 09 HTAT 2| 368 9 16% forr
T 3T 99 T 55% SToat chl FOTEIT 3T 31+ UX 9T Shldl 21 AT I8 Toh 7 |
5,940 FATAT &, A7 I8 Toh{TT U fehd=T (T H) S0 hidl 8?2

a) 3,520

b) 3,300

¢) 3,960

d) 3,740



In an examinatiostudents are passed in Hindi, while 50% are passed in

English audents are passed in both the :u(bj,e%While 20% are failed in

both subjects. How many students are passed in Hindi?

T TR T 40% BT fEE 3 3t B §, Stafes 50% SRieht i 3 50 B S Rt

H 3t B B mﬁsﬁﬁfﬁuﬁﬁ 20 1T Fet Bl Tt # foraw o T g 82
Ak

a) 200

b) 300




When the price of an item was reduced by 25% then its sale was increased by
x%. If there is an increase of 20% in the receipt of the revenue, then the value of

x will be:

S Teh T o Hod W 25% hl ShuT T3 off, Tt 38eh Torshl 7 x% ot afeg 73 o af?
AT ST TTTH | 20% kT g 4T, a7 x T W T EA2

o
A= a) 45

b) 75

¢) 50

d) 60



A shopkeeper sells his goods at 25% profit. If he had bought it at 5% less and
sold it for Rs. 55 less, he would have gained 20%. Find the original selling price of

the article?

Teh TG 25 TTA9Td 19 U STOET ATHT ST 81 3T 30 30 5 TA9rd ol U
Tt SR W 55 FUA A § A< foam, 3/ 20 st ST wTaar 3T 9% ot qredtoeh
IEERE 2 EICETIS P

A
2. = a) Rs. 550

b) Rs. 600

¢) Rs. 625

d) Rs. 575






